

# Close Elections, Missing Voices, and Automatic Voter Registration Projected Impact in 50 States

By Liz Kennedy and Rob Griffin

Automatic Voter Registration (AVR) is a commonsense way to modernize the voter registration process, keep voter registration rolls up-to-date and secure, and remove obstacles to voter participation. And it is simple. When a state has confirmation of a person's eligibility to vote, it automatically registers that person to vote, unless they decline.

Low voter participation is a problem in a democracy, where individuals make choices about the future of their towns, cities, states, and country by exercising their voting power at the polls. The current system of voter registration—which puts the burden on individuals to get and stay registered—is an unnecessary barrier to voter participation.<sup>3</sup> Democracy works best when eligible voters have their voices heard, and state and federal policies should support that.<sup>4</sup>

The Center for American Progress projects that if every state adopted Automatic Voter Registration like the effective system used in Oregon, more than 22 million people across the country would join the voter rolls in the first year of the program alone. These new voters would then be poised to participate in making America's political decisions. Of those 22 million new voters, almost 9.5 million are unlikely to have become registered without the convenience of AVR.

Oregon was the first state in the country to use AVR, with great success. Last year, in the first year of the program, more than 272,000 new people were added to the state's voter rolls, and more than 98,000 of them voted in the 2016 election. They became registered as a result of interacting with Oregon's Department of Motor Vehicles, or OMV, such as when they went to get a driver's license. More than 116,000 people registered who were unlikely to have done so otherwise; more than 40,000 of these previously disengaged people voted in the November 2016 election. Oregon's electorate is now more representative of the state's population since citizens registered through AVR are younger and live in places that are less urban, lower-income, and more ethnically diverse.

Importantly, an additional 570,000 Oregonians had their voter registration records updated when they submitted a change of address through the OMV. This helps keep the voter registration lists up-to-date and more accurate, and protects the integrity of elections while ensuring more Americans can have their voices heard and exercise their power at the polls.

While voter registration does not guarantee voter participation, CAP estimates that about 87 percent of people who were registered to vote reported voting in both 2012 and 2016. It is instructive to compare the relatively small vote differential between winning and losing candidates to the number of new registrants projected to be added in each state in just the first year with AVR. For context, this brief looks at the 10 closest 2017 Virginia House of Delegate elections and the 25 closest congressional elections for the House of Representatives in 2016 and compares the currently missing voices who could be brought into political decision-making with AVR.

Using AVR can also save states and localities significant costs from transitioning away from paper-based voter registration records. AVR is the next logical step in creating an efficient, secure, and modern voter registration system for the 21st century.<sup>11</sup>

### Fifty-state AVR impact projections

In addition to Oregon, some form of AVR has already been adopted in 9 states and Washington, D.C. <sup>12</sup> In Illinois, it was passed unanimously by the legislature and signed by Republican Gov. Bruce Rauner; <sup>13</sup> in Alaska, it was adopted by voters at the ballot. <sup>14</sup> California is scheduled to launch their program in April 2018. <sup>15</sup> It is important to note that not all AVR systems are using Oregon's effective policy design, which relies on a no-action default to voter registration for eligible citizens; social science demonstrates this is the best way to achieve a favored outcome. <sup>16</sup> The impact on increasing the number of people that become and remain registered to vote will vary depending on inclusiveness of the AVR policy adopted.

Table 1 uses estimates of AVR's impact in Oregon to project how many new potential voters would be added per state if every state were to adopt a similar AVR system. CAP's analysis also shows the subset of how many people in each state are likely not to have become registered to vote without AVR.

Increasing access to the ballot is particularly important at a time when participation rates are low and critical choices are being made for society's future.<sup>17</sup> Elections in many states are very close, with margins of victory less than 5 percent,<sup>18</sup> and yet across the country tens of millions of eligible but unregistered citizens are not pulling the levers of power by casting their votes.<sup>19</sup>

TABLE 1
The 50 states' AVR impact projections

State	Total projected AVR registrants	Number of unlikely registrants without AVR	State	Total projected AVR registrants	Number o unlikely regist without AV
AK	50,718	21,630	MT	71,596	30,534
AL	363,553	155,045	NC	626,788	267,307
AR	230,774	98,418	ND	47,679	20,334
AZ	492,553	210,059	NE	106,883	45,582
CA	2,929,407	1,249,306	NH	84,029	35,836
CO	348,022	148,421	NJ	598,572	255,273
CT	245,396	104,654	NM	159,626	68,076
DC	34,570	14,743	NV	200,541	85,525
DE	62,583	26,690	NY	1,501,852	640,496
FL	1,599,725	682,236	ОН	818,652	349,131
GA	719,449	306,824	OK	303,233	129,320
HI	145,947	62,242	PA	899,930	383,794
IA	210,734	89,872	RI	73,562	31,372
ID	123,703	52,756	SC	350,296	149,391
IL	766,737	326,991	SD	58,574	24,980
IN	495,212	211,194	TN	539,171	229,941
KS	192,393	82,050	TX	1,930,403	823,260
KY	335,233	142,967	UT	189,951	81,008
LA	308,258	131,463	VA	494,190	210,757
MA	437,072	186,398	VT	45,236	19,292
MD	359,760	153,427	WA	409,032	174,440
ME	72,978	31,123	WI	346,229	147,656
MI	656,855	280,129	WV	172,178	73,429
MN	305,660	130,355	WY	41,176	17,560
МО	381,955	162,893	Total	22,092,767	9,421,915
MS	154,140	65,736			

Sources: Authors' estimates are based on data from the U.S. Census Bureau. See Steven Ruggles and others, "Integrated Public Use Microdata Series, U.S. Census Data for Social, Economic, and Health Research, 2015 American Community Survey: 1-year estimates," available at https://usa.ipums.org/usa/ (last accessed November 2017); Steven Ruggles and others, "Integrated Public Use Microdata Series, 2015 Current Population Survey for Social, Economic, and Health Research: 1-year estimates;" available at https://cps.ipums.org/cps/ (last accessed November 2017).

# Close elections, missing voices: Virginia

The election results in the November 2017 Virginia House of Delegates races are illustrative of the power of even a small number of voters to determine election outcomes. The five closest contests in Virginia have candidates whose vote totals are separated by less than 1 percent; four of those races currently each have fewer than 130 votes dividing the candidates. 22

If Virginia were to implement AVR, the commonwealth would be projected to add nearly half a million voter registrations, 210,000 of whom are people who are unlikely to have become registered to vote without AVR.<sup>23</sup> If Virginia's 494,190 projected AVR registrants were distributed evenly in the state, each of the 100 delegate districts would have nearly 5,000 new potential voters.<sup>24</sup>

That number of new people who would be registered to vote is more than four times the largest margin of victory in Virginia's 10 closest Delegate races<sup>25</sup> and more than 12.5 times the margin of victory in the closest six Delegate races.<sup>26</sup>

TABLE 2
Ten closest contests for the Virginia House of Delegates, 2017

District	Winner	Party	Margin of victory	Total votes	Margin of victory, number of votes
94	David Yancey	R	0.04%	23,889	10
28	Bob Thomas Jr.	R	0.35%	23,647	82
40	Tim Hugo	R	0.35%	30,162	106
27	Roxann Robinson	R	0.44%	28,829	128
68	Dawn Adams	D	0.86%	39,228	336
85	Cheryl Turpin	D	1.67%	23,345	389
73	Debra Rodman	D	3.13%	28,547	894
62	Riley Ingram	R	3.48%	23,544	819
84	Glenn Davis Jr.	R	3.54%	20,976	742
10	Wendy Gooditis	D	3.89%	29,212	1,136

Note: At the time of publication, Virginia delegate district 28 had yet to be certified.

Source: Virginia Department of Elections, "2017 November General Unofficial Results," available at http://results.elections.virginia.gov/vaelections/2017%20November%20General/Site/GeneralAssembly.html (last accessed November 2017).

# Close elections, missing voices: Congress

The balance of power at the federal level also rests on a few close races. In 2016, 16 congressional seats were won with a victory margin of less than 5 percent of the votes cast.<sup>27</sup> In seven races, that meant fewer than 5,000 votes between the winning and losing candidates.<sup>28</sup> An additional nine seats were won with a victory margin of between 5 percent and 7.6 percent of votes cast.<sup>29</sup> Of the 25 closest races, the largest margin of victory between winning and losing candidates was fewer than 27,700 votes; the closest 21 House seats were won with a margin of victory of fewer than 20,000 votes.<sup>30</sup>

The number of voter registrations per congressional district dwarf the margins of victory between the winning and losing candidates—the ratios range from almost twice as many to 24 times as many people newly registered to vote compared to the number of votes that determined the election.<sup>31</sup> While these AVR impact projections do not attempt to predict where the projected potential voters newly registered through AVR live, CAP has divided the statewide projected AVR registrants by the number of congressional districts in the state to give a rough sense of AVR's potential to bring more voices into the process of making collective political decisions:

TABLE 3
Twenty-five closest 2016 House election contests

							Projected AVR	House	Projected AVR
State	District	Winner	Party	Margin of victory	Total votes	Margin of victory, number of votes	registrants per district	districts per state	registrants per state
CA	49	Darrell Issa	R	0.52%	310,155	1,621	55,272	53	2,929,407
MN	8	Rick Nolan	D	0.56%	356,187	2,009	38,208	8	305,660
MN	1	Tim Walz	D	0.76%	335,600	2,548	38,208	8	305,660
NE	2	Don Bacon	R	1.24%	278,668	3,464	35,628	3	106,883
NV	3	Jackie Rosen	D	1.36%	289,795	3,943	50,135	4	200,541
TX	23	Will Hurd	R	1.40%	218,103	3,051	53,622	36	1,930,403
NH	1	Carol Shea-Porter	D	1.54%	319,256	4,904	42,015	2	84,029
MN	2	Jason Lewis	R	1.95%	341,285	6,655	38,208	8	305,660
CA	7	Ami Bera	D	2.34%	297,301	6,965	55,272	53	2,929,407
FL	7	Stephanie Murphy	D	2.96%	353,622	10,456	59,249	27	1,599,725
CA	10	Jeff Denham	R	3.40%	241,141	8,201	55,272	53	2,929,407
FL	13	Charlie Crist	D	3.81%	355,842	13,544	59,249	27	1,599,725
NV	4	Ruben Kihuen	D	4.31%	247,313	10,657	50,135	4	200,541
CA	44	Nanette Barragan	D	4.39%	178,413	7,835	55,272	53	2,929,407
NJ	5	Josh Gottheimer	D	4.51%	330,277	14,897	49,881	12	598,572
NH	2	Ann McLane Kuster	D	4.67%	333,196	15,546	42,015	2	84,029
MN	7	Collin Peterson	D	5.03%	330,541	16,637	38,208	8	305,660
IL	10	Brad Schneider	D	5.21%	285,970	14,900	42,597	18	766,737
VA	10	Barbara Comstock	R	5.79%	398,503	23,079	44,926	11	494,190
NY	3	Thomas Suozzi	D	6.01%	324,079	19,471	55,624	27	1,501,852
NY	22	Claudia Tenney	R	6.23%	243,710	15,178	55,624	27	1,501,852
CA	25	Steve Knight	R	6.26%	261,161	16,349	55,272	53	2,929,407
CA	24	Salud Carbajal	D	6.84%	310,814	21,254	55,272	53	2,929,407
IA	2	Dave Loebsack	D	7.48%	369,504	27,638	52,684	4	210,734
PA	17	Matt Cartwright	D	7.61%	293,164	22,304	49,996	18	899,930
AZ	1	Tom O'Halleran	D	7.76%	263,964	20,474	54,728	9	492,553

Sources: CNN, "house results," available at http://www.cnn.com/election/results/house (accessed November 2017); Ballotpedia, "United States House of Representatives elections, 2016," available at https://ballotpedia.org/
United\_States\_House\_of\_Representatives elections,\_2016 (accessed November 2017). Authors' estimates are based on data from the U.S. Census Bureau. See Steven Ruggles and others, "Integrated Public Use Microdata Series, U.S.
Census Data for Social, Economic, and Health Research, 2015 American Community Survey: 1-year estimates," available at https://cps.ipums.org/usa/ (last accessed November 2017); Steven Ruggles and others, "Integrated Public Use Microdata Series, 2015 Current Population Survey for Social, Economic, and Health Research: 1-year estimates," available at https://cps.ipums.org/cps/ (last accessed November 2017).

In the six closest elections, the number of projected new voter registrants are in double digits compared to the margin of victory; they range from 10 times to 34 times the margin of victory between the winning and losing candidates.<sup>32</sup>

In an additional seven races, the number of new registrants would be between 2 and 3 times the margin of victory between the winning and losing candidates.<sup>33</sup>

In just two of the closest elections, the new voter registrants per district are slightly less than twice as much as the margin of victory between the winning and losing candidates.<sup>34</sup>

AVR is a secure, modern process that strengthens America's democracy by expanding and broadening the electorate.<sup>35</sup> Americans deserve to have the roadblocks to participation removed so we can revitalize the fundamentals of self-government.<sup>36</sup>

## Methodology

The estimates reported here are derived from a variety of data sources and models. To start, we developed estimates of each state's eligible voter population using the 2015 1-Year American Communities Survey.<sup>37</sup> We broke the population in each of these states into 160 groups based on race, age, income, and education.

From there, we estimated the registration rates for each of these 160 groups in all 50 states and Washington, D.C., using data from the 2016 November Supplement of the Current Population Survey. These rates were produced using cross-nested multilevel models that estimated the registration rate for each state, race, age, income, and education level group represented in the data. Many of these groups can be very small, but this approach provides more realistic starting estimates of registration for low-sample populations by partially pooling data across individuals' geographic and demographic characteristics. We applied those registration rates to the eligible voter population counts in each to generate counts of the registered and unregistered populations in each state.

Using data from our original analysis of automatic voter registration in Oregon,<sup>38</sup> we derived two important values that allowed us to map what we saw occur in Oregon in 2016 onto other states. First, what percentage of the unregistered population passed through Oregon's OMV system in 2016? To estimate this, we took the number of people who were registered by the OMV system in Oregon (about 270,000) and divided it by the estimated number of unregistered voters in Oregon from our model above plus the number of people who were registered by the OMV system.<sup>39</sup>

Second, what percent of those who passed through OMV were unlikely to have registered themselves? This was derived by taking our original estimate of the number of OMV registrants who were unlikely to have registered themselves (about 116,000) and dividing by the total number of people registered by OMV in 2016. As we described them in the original report, these "unlikely registrants" had the following characteristics in Oregon:<sup>40</sup>

- They were not registered during the 2008, 2010, 2012, or 2014 elections.
- They were old enough that they could have been registered and voted since 2008.
- They did not take any action in order to become registered (in this case, returning a registration postcard).

With those two values in hand, we simply apply those rates to the estimated number of unregistered voters in each state to derive a) the total number of individuals we believe would pass through an AVR system in a given state as well as b) the number of those individuals who we believe would not have registered on their own. Applying these rates to other states is a simplification—in reality, the rates would vary dependent on the type of AVR system a state instituted, the demographic composition of the state, behavioral differences between state populations, etc.—but gives us a baseline to think through what the potential effects of this law might be in other states.

Liz Kennedy is the director of Democracy and Government Reform at American Progress. Robert Griffin is the director of quantitative analysis for Progressive Studies at American Progress. Special assistant Gwen Calais-Haase provided research support.

#### Endnotes

- 1 See, for example, Rob Griffin, Paul Gronke, Tova Wang, and Liz Kennedy, "Who Votes With Automatic Voter Registration?" (Washington: Center for American Progress, 2017), p. 5, available at https://www.americanprogress.org/issues/ democracy/reports/2017/06/07/433677/votes-automaticvoter-registration/.
- 2 Brennan Center for Justice, "Automatic Voter Registration," available at https://www.brennancenter.org/analysis/automatic-voter-registration (last accessed November 2017).
- 3 Victoria Bassetti, "Easing the burden of voter registration," The Washington Post, September 21, 2012, available at https://www.washingtonpost.com/opinions/easingthe-burden-of-voter-registration/2012/09/21/8cdacf ae-040a-11e2-91e7-2962c74e7738\_story.html?utm\_ term=.7b7b22d66b85.
- 4 Liz Kennedy, "Oregon Success Shows the Way Forward for Automatic Voter Registration" (Washington: Center for American Progress, 2017), available at https://www. american progress.org/issues/progressive-movement/ report/2016/05/16/137492/oregons- success-shows-wayforward-for-automatic-voter-registration/.
- 5 Author's estimates are based on data from Bureau of the Census, "American Community Survey" (U.S. Department of Commerce, 2015) available at https://www.census. gov/programs-surveys/acs/; Steven Ruggles and others, "Integrated Public Use Microdata Series: Version 5.0" (Minneapolis: Minnesota Population Center, 2010), available at https://usa.ipums.org/usa/; Bureau of the Census, "Current Population Survey November Supplements" (U.S. Department of Commerce, 2016), available at https://cps.ipums. org/cps/.
- 6 Ibid.
- 7 Griffin, Gronke, Wang, and Kennedy, "Who Votes with Automatic Voter Registration?."
- 8 Ibid.
- 9 Ibid.
- 10 Jeanne Atkins, "The future of voter registration is here—in Oregon,"The Hill, January 27, 2017, available at http://thehill.com/blogs/pundits-blog/campaign/316393-the-futureof-voter-registration-is-here-in-oregon.
- 11 Griffin, Gronke, Wang, and Kennedy, "Who Votes with Automatic Voter Registration?."
- 12 Common Cause, "Automatic Voter Registration," available at http://www.commoncause.org/states/massachusetts/ issues/voting-and-elections/avr/ (last accessed November 2017). The 10 states where AVR has been adopted legislatively, administratively, or at the ballot are: Illinois, Rhode Island, Vermont, Connecticut, West Virginia, Colorado, Georgia, California, Oregon, and Arkansas.
- 13 Kira Lerner, "Illinois governor signs automatic voter registration into law," ThinkProgress, August 28, 2017, available at https://thinkprogress.org/illinois-automatic-reg-round-twodc7da5df2f95/.
- 14 Alaska Department of Revenue, "AUTOMATIC VOTER REG-ISTRATION," available at https://pfd.alaska.gov/Automatic-Voter-Registration (last accessed November 2017).
- 15 Bob Egelko, "California's new motor voter law coming in April, state lawyer says," SFGate, August 17, 2017, available at http://www.sfgate.com/news/article/California-s-newvoter-motor-law-coming-in-11882513.php.
- 16 Kennedy, "Oregon Success Shows the Way Forward for Automatic Voter Registration.

- 17 Drew Desilver, "U.S. trails most developed countries in voter turnout," Pew Research Center, May 15, 2017, available at http://www.pewresearch.org/fact-tank/2017/05/15/u-svoter-turnout-trails-most-developed-countries/.
- 18 The New York Times, "Senate Election Results: G.O.P. Keeps Control," August 1, 2017, available at https://www.nytimes. com/elections/results/senate.
- 19 Heather Creek and Kyle Ueyama, "Why Are Millions of Citizens Not Registered to Vote?" (Washington: The Pew Charitable Trusts, 2017), available at http://www.pewtrusts. org/~/media/assets/2017/06/ei\_why\_are\_millions\_of\_citizens\_not\_registered\_to\_vote.pdf.
- 20 Fenit Nirappil, "Democrats make significant gains in Virginia legislature; control of House in play," November 8, 2017, available at https://www.washingtonpost.com/local/virginia-politics/democrats-poised-to-make-significant-gains-invirginia-legislature/2017/11/07/9c2f4d24-c401-11e7-aae0cb18a8c29c65\_story.html?utm\_term=.3a676bd604b7.
- Virginia Department of Elections, "2017 November General Unofficial Results," available at http://results.elections. virginia.gov/vaelections/2017%20November%20General/ Site/General Assembly.html (last accessed November 2017). At the time of publication, Virginia delegate district 28 had yet to be certified.
- 22 Ibid.
- 23 Author's estimates are based on data from Bureau of the Census, "American Community Survey"; Ruggles and others, "Integrated Public Use Microdata Series: Version 5.0"; Bureau of the Census, "Current Population Survey November Supplements."
- 24 Ibid.
- 25 Author's estimates are based on data from Bureau of the Census, "American Community Survey"; Ruggles and others, "Integrated Public Use Microdata Series: Version 5.0"; Bureau of the Census, "Current Population Survey November Supplements"; Virginia Department of Elections, "2017 November General Unofficial Results."
- 26 Ibid.
- 27 CNN, "House Results," available at http://www.cnn.com/ election/results/house (accessed November 2017).
- 28 Ibid.
- 29 Ibid.
- 30 Ibid.
- 31 Author's estimates are based on data from Bureau of the Census, "American Community Survey"; Ruggles and others, "Integrated Public Use Microdata Series: Version 5.0"; Bureau of the Census, "Current Population Survey November Supplements."
- 32 Ibid
- 33 Ibid.
- 34 Ibid.
- 35 Griffin, Gronke, Wang, and Kennedy, "Who Votes with Automatic Voter Registration?."
- 36 Ibid.

.....

- 37 At the time of our analysis, the 2015 American Communities Survey was the latest data available. Given both population growth and the diversification of the eligible voter population, we believe that using data from an earlier year would—if anything—bias our estimates downward.
- 38 Griffin, Gronke, Wang, and Kennedy, "Who Votes with Automatic Voter Registration?."
- 39 This is obviously not a perfect estimate—for example, the self-reported registration rate of eligible voters in a state has the potential for bias—but it does allow us to work with a population estimate that is available in every state. While an estimate drawn directly from the voter files or state-level reports on registration numbers themselves might be superior in Oregon, getting comparable data nationwide is untenable. Beyond the prohibitive cost, record keeping and reporting on the number of registered voters varies heavily state-to-state. Relying on the model based estimate of registered and unregistered voters provides a consistent baseline from which to draw conclusions.
- 40 Griffin, Gronke, Wang, and Kennedy, "Who Votes with Automatic Voter Registration?"